MATH 1500/MATH1551
Section 5.2 HW Solutions: 1, 3,5, 9, 15, 17, 29

. n(SUT)=n(S)+nT)—n(5NT) 29, Comnsists of points in R or points m both Sand T
EB)
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3. n(SUT)=n(S)+n(T)—n(SNT)
15=6+9— n(SNT)
nSNIN=6+9-15=0

5. n(SU=n(S)+n(T)—n(SNT)
10=n(S)+7-5
n(s)=10-7+5=8

9. Let P = {adults in South America fluent in
Portuguese} and
§ = {adults in South America fluent in Spanish}.
Then PJS = {adults in South Amernica fluent

Portuguese or Spanish} and

P 5 = {adults in South America fluent in
Pormuguese and Spanish}.

n(P)=170, n(S) = 155,

n(P ' §) =314 (numbers in millions)
n(PUS)=n(P)+n(S)—n(PNS)
314=170+ 155 —n(P A 5)
nPnS)=170+155 314 =11

11 mullion are fluent in both languages.

15. Consists of points not in Tbut i §.
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17. Consists of points in T or not in 5.
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